Problem Solving 2 Unit 1 - Line Segments

e Complete the activity online. Once it is finished, it loops back to the beginning again - so you can stop
once it repeats.

e Fill in the blanks as you complete the activity.
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Examine the relationship in the diagonals of the quadrilaterals.

1. Which ones are equal in length? SQuare re c+0n3’e.

2. Which ones are perpendicular? kite S QulQve ’ rhom I:HJ

3. Which ones tl)}sect each other? SQuare hom L:bu
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My opposite sides are parallel and equal in length: }';)Orq ﬂt’ /0\9 am
My opposite sides are parallel and equal in length, and my sides are 'h?

perpendicular: rec ”Uf?}G

My opposite sides are parallel and all sides are equal in length: r‘hom oS

My opposite sides are parallel, all sides are equal in length, and my sides are

perpendicular: Squore
Two of my sides are parallel, but not equal in length. The other two sides ’ / _} o'
are equal in length but not parallel: |S0scel’y T/qpeto
My diagonals are perpendicular and equal: SO UQre

My diagonals are equal but not perpendicular: ?o/ 0 H( {%pfo,ﬂq
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classifying Quadrilater;,.,s

Problem A:

A quadrilateral has these
coordinates: M(8, -3), A(-2, -8),
T(-4, 3), and H(6, 8).

Graph this quadrilateral and
complete the following questions.

1. Determine the length of each side.
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2. Determine the slope of each side.
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3. Is MATH a parallelogram? Justify your answer with proper calculations (IE: how do you know).
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4. Is MATH a rectangle? Justify your answer with proper calculations (IE: how do you know).

Mo becouye. mMAkmATf_'L
05 X -55 =-23%

5. Is MATH a rhombus? Justify your answer with proper calculations (IE: how do you know).
kS, Lecauye egch side ore equql % \OQ\(Q lle]

6. Is MATH asquare? Justify your answer with proper calculations (IE: how do you know).
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7. Draw in the diagonals. Obviously, they are unequal in length. Verify this algebraically (IE: calculate
the length of each diagonal and show they are unequal).
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8. Determine the midpoint of each diagonal. What do you notice? What does this mean?
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Problem B:

Points G(-6, 7), O(4, 3), N(2, -2), and E(-8, 2) form a quadrilateral.

1. Classify the quadrilateral.
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2. Join the midpoints of each side to form another quadrilateral.
What’s your plan? IE: What do you need to calculate?

ﬁ@,e&) e Flx,y) = (-y_v i) s(x,g);(‘?j_z =3

Fe ( %) - S=(-39)

(Yo)-(ggj __) H (%) = ( 62; ;lf:'
/ H‘;('%rﬂi/

3. Verify that this ‘midpoint’ quadrilateral is a parallelogram.
What’s your plan? IE: What do you need to calculate?
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